ERROR IDENTIFICATION
Circling the letter A, B, C or D to indicate the underlined part that needs correction in each of the
following questions.
S1. Renoir is one of the most (A) popular French impressionist painters (B). His paintings consider (C)

masterpieces all over the world (D).

52. 1 like looking at (A) these pictures, but (B) I will have (C) enough by lunch time (D).
53. When the first (A) child was born (B), they have been married (C) for (D) three years.
54. This time next month we won’t (A) be at work (B); we will enjoy (C) the peacetful atmosphere of (D)

the countryside.

55. He will (A) take the dog out (B) for a walk as soon as (C) he will finish (D) dinner.

56. I didn't realize (A) that our conversation (B) being recorded (C) by someone (D).

57. It is impossible (A) to believe (B) that somebody actually (C) admire (D) that man.
58. It can’t deny (A) that (B) smoking is not allowed (C) in (D) public places.

59. Advertisements on television (A) is becoming (B) more competitive(C) than ever before (D).
60. The use of (A) credit cards in place of (B) cash has (C) been increased (D) rapidly in recent years.
61. The president, surrounding (A) by secret service agents (B), is (C) trying to make (D) his way to the

podium.

62. The contracts signed (A) by the company have been voided (B) because of (C) some stipulations were
not (D) met.

63. If he keeps going (A) to work late (B), he would (C) get fired (D)!

64. Eliza recommended (A) to eat (B) in (C) a dim sum restaurant while we're (D) in Hong Kong.

65. After much (A) pleading, the (B) students got the teacher postponing (C) the exam until (D) next
Monday.

A. much B. the C. postponing D. until

66. Lydia really regrets to drop out of high school. She has really had to struggle to make a living because
of that decision.

A. to drop B. has really had to C. to make D. because of
67. She tried to tell he the terrible truth, but she just couldn't bring herself to do it.

A. tried B.totell he C. theterrible truth  D. couldn’t

68. I felt someone tapping me on the shoulder but when I turned round, there were no one there.
A. tapping B. on C. shoulder D. were
69. Paul sat on a hill to watch the mother bear and her cubs until they were disappeared into the forest.

A.onahill B. to watch  C. were disappeared D. into

70. The deadbolt is the best lock for entry doors because it is not only inexpensive but installation is also

casy.
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A. best B. because  C. not only D. installation is also easy

71. The woman of whom the red car is parked in front of the bank is a famous pop star,

A. of whom the B.is parked C. front of the D. a famous pop star

72. The better you are at English, more chance you have to get a job with international organizations.

A. better B. are at C. more chance D. ajob

73. Society will be having to change radically to keep pace with the technology available.

A. society B. will be having C. with D. available

74. There are many frequently mentioned reasons why one out of four arrests involve a juvenile.

A. frequently B. mentioned C. four arrests D. involve a

75. Robert Frost was not well known as a poet until he reached the forties.

A as B. poetC. reached D. the

76. The amounts of oxygen and nitrogen in the air almost always remain stable, but the
amount of water vapor vary considerably.

A. the amounts of  B. almost always C. the amount of D. vary
77. The American frontiersman, politician, and soldier Davy Crockett is one of the

most popular of American hero.

A. frontiersman B. most C. of D. hero

78. A five-thousand-dollars reward was offered for the capture of the escaped
criminals.
A. dollars B. was offered C. for the capture of D. criminals

79. A desert area that has been without water for six years will still bloom when rain

will come.
A. has been B. without water C. still D. will come
80. The word “shore™ can be used rather of “coast™ to mean the land bordering the sea.

A. rather B.tomean C.the D. bordering
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